


the current portfolio spread. Typically, the actual spread Is higher than the minimum WAS. Both
voluntary reinvestments and high defaults move large amounts of principal into the reinvestment
bucket with a lower spread. This lower spread offsets the benefit of the discount In Scenario C. In
addition, there appears to be an impact from negative carry on the timing of reinvestments.

A different situation appears to affect Ares 52. This transaction receives no benefit from prepays. After
taking a deeper dive, we believe that there a number of factors driving this outcome. The firstis a
relatively short remaining reinvestment period - this lowers the time period for this benefit.

The second relates to the nature of the current Ares 52 portfolio. Ares is more ratings "bar belled"” than
other transactions. As a result voluntary prepayments reinvest into a more ratings homogenous
portfolio which may pay less Interest as a result.

Proposals:

As a result of these runs, we want to circle back to our alternatives. In addition to the NAIC proposal,
the ACLI proposed an approach based on economic scenario. While we believe that the ACLI proposal is
well thought through, NAIC staff still believes that the No Prepay / No Discount is most appropriate for
two main reasons:

1) the enormous amounts of extra cash generated is a modeling anomaly and without an equivalent
assumption in the C1 framework; and

2) It Is also the simplest assumption -- our experience in Scenario C and Ares demonstrate that
complexity assumptions can have non-convex results. Given the complexity of CLOs, simpler scenarios
are more likely to avoid unintended consequences.

We added an additional proposal to the table -- "ACLI Adjusted". It begins with the ACLI proposal and
adds some modifications. First, it reduces the proposed prepayment rates. Second, it adds haircuts for
discount purchase price. The rationale is as follows: discounts compensate for some shortcomings in
the security - typically for a below market spread or higher perceived credit risk. We can model haircuts
to reinvestment WAS or the reinvestment WARF depending on the scenario.

A WAS haircut is more difficult to justify in the >85th percentile scenarios (where a more credit
distresses situation is more likely) but is easier to apply. For example, assume a 92 price and 8-year
maturity. Ignoring discounting, we can assume 100 bps discount to WAS. 100 - (100 bps X 8 yrs). Staff
are not too fond of this alternative, but it could work as a compromise.



All None Par
< 85th percentile 15% Par
85th to 92nd percentile  10% 92 and haircut
> 92nd percentile 5% 87 and haircut
< 85th percentile 20%-30%




